ERHR27FE - T2 6FE MARERINREELRE
ERERARKRRI=E
(% A) (BfI : M)
X 2 T2 7FE T2 6EE 14 £
¥ H REEE(a) [HEREULLY REEE (D)  |[HBRELLY #5EEE (a)- (b) a/b%
1. B B & B @& B B| 736,760,593 19.8| 752,894,809| 23.4| A 16,134, 216 97.9
2. ERAHRUFHEH 582,200 0.0 558,400 0.0 23,800 104.3
3. B E X H &£ 719,402,016] 19.4| 729,068, 822| 22.7 A 9,666, 806 98.7
4. BEWKRGTES X FE| 115,473,979  3.1| 177,201,422 5.5 A 61,727, 443 65. 2
5. Bl = & & X f+ &| 786,712,049 21.2| 697,200,896 21.7 89,511, 153 112.8
6. & 52 H £| 162,169,229| 4.4| 168,364,658 5.2 A 6,195,429 96.3
7. £ A E ¥ X f+ &| 764,714,324 20.6| 351,151,695 10.9 413,562, 629 217.8
8. Bt 3 4R A 0 0.0 11,566| 0.0 A 11,566 £
9. & A &| 410,729,892| 11.1|  323,591,047| 10.1 87,138, 845 126.9
10. #& 8 & 4,410,613 0.1 1,352,011 0.0 3, 058, 602 326.2
1. & Iz A 12,014,674 0.3 14,399,584 0.5 A 2,384,910 83. 4
A A F 3,712,969,569| 100.0| 3,215,794,910| 100.0 497,174, 659 115.5
(% ) (B46L - [)
X % T2 7EE TR 2 6FE ke E3
¥ H REEE(a) [HEELLY REZEGD) (WY #5EEE (a)-(b) a/b%
1. #& % =1 59, 506, 983 1.6 66,776,163 2.1 A 7,269,180 89. 1
2. B B #  #E| 2226972860 60.0 2 152,260,639 67.0 74,712, 221 103.5
3. B EHEXIESSE| 433,416,035 11.7| 427,242,804| 13.3 6,173, 231 101. 4
4. MBAEHEMGEE 303,298 0.0 336,336 0.0 A 33,038 90. 2
5. f+ # # 4 &£| 177,326,807 4.8/ 196,378, 162 1| A 19,051,355 90.3
6. £ B = £ M H £| 746,498 959 20.1| 309,480,070 9.6 437,018, 889 241.2
7.R B T ¥ & 23,724,996/ 0.6 17,653,340 0.6 6,071, 656 134.4
8. & & ¥ x £ 0 0.0 0f 0.0 0 —
9. & & Z 26,000,000, 0.7 26,000,000 0.8 0 100.0
10. % X H & 16,953,355 0.5 15,242,160 0.5 1,711,195 111.2
n 2 AR Eg#RH £ 14,623| 0.0 14,623 0.0 0 100.0
12. % ] % 0 0.0 0f 0.0 0 —
13. #& H & 0 0.0 0| 0.0 0 —
A = 3,710,717,916| 100.0| 3,211,384,297| 100.0 499, 333,619 115.6




ER27 5K - FER26FE

&Y EEIE EREN

A B R AR B LR

(HE A) (BfE - )
X & T2 7EE ERk2 6 FE t L1
B B REZE(a) |HERELLY REZE () (B EEEE (@) - (b) a/b%
1. RPSHEEERRKRH 150, 857,130 70.9 147,800,880 70.9 3, 056, 250 102. 1
2. FRAHEHRERUFHH 48, 700 0.0 31, 400 0.0 17, 300 155. 1
3. & A & 61,072,522 28.7 59,104, 778| 28.3 1,967,744 103.3
4. # 1 A 68, 410 0.0 180, 900 0.1 A 112,490 37.8
5. #& i & 878, 663 0.4 1, 456, 943 0.7 A 578,280 60. 3
w AN & i 212,925 425 100.0( 208,574,901 100.0 4,350, 524 102. 1
(% =) (B - M)
X % ERk2 7 EE ERk2 6 FFE 54 L3
# B REZE(a) |HEEEEY REZE O  |HERHY% HEEZE (a)-(b) a/b%
1. # % =y 11, 773, 000 5.6 11, 670, 816 5.6 102, 184 100. 9
® e B EE R
2 L E A M 200, 188,752 94.4 195, 844,522| 94.3 4,344, 230 102.2
3. § 53 H % 68, 410 0.0 180, 900 0.1 A 112,490 37.8
4. ¥ & & 0 0.0 0 0.0 0 —
m B A i 212,030,162 100.0[ 207,696,238 100.0 4,333,924 102. 1




ER27 5K - FER26FE

A B R AR B LR

NHERIRIRIRE
(® A) (BfE - )
X % T2 7EE ERk2 6 FE t L1

# REZE () |HERLLE% REZED)  |HERLEY HEEEE (a)- (b) a/b%
1. & (53 ¥ 434,662,420] 23.7| 381,324,764 22.1 53, 337, 656 114.0
2. FAHREUFHH 54, 800 0.0 56, 800 0.0 A 2,000 96.5
3. B E % H #£| 386,242,308 21.1 379,213,502 22.0 7,028, 806 101.9
4. ¥ B & X ff €| 464,157,137 25.3| 471,515,613| 27.3 A 7,358,476 98.4
5. 2 53 H £| 246,769,065 13.5| 242,120,495 14.0 4,648,570 101.9
6. Bt E Iy A 5,377 0.0 5,335 0.0 42 100. 8
7. %2 A 4| 257,654,861 14.1 248,238,767 14.4 9,416, 094 103.8
8. & i % 41,257, 844 2.3 4,939,118 0.3 36, 318, 726 835.3
9. 1y A 1,915, 856 0.1 0 0.0 1,915, 856 S e

m A A i 1,832, 719,668 100.0| 1,727,414,394 100.0 105, 305, 274 106. 1
(% =) (B4L - A)

X 4 T2 7EE T2 6FE 2 "

# REZE(a) |HEBAKLE% REZE (L)  |HERkLbY H#EEEE (a) - (b) a/b%
1. # % =y 43, 476, 633 2.5 43, 539, 290 2.6 A 62,657 99.9
2. & & # T #&| 1,620,524,505| 92.5| 1,598,745 559| 94.8 21,778, 946 101.4
3. i X I F £ B 59, 460, 715 3.4 30, 397, 806 1.8 29, 062, 909 195. 6
4. X £ B I £ 2,000, 000 0.1 0 0.0 2. 000, 000 £ e
5. 2 & & 0 0.0 7,144,000 0.4 A 7,144,000 i
6. ¥ fi& & 0 0.0 0 0.0 0 —
7. § % H % 26, 875, 044 1.5 6, 329, 895 0.4 20, 545, 149 424. 6

m B A i 1,752, 336,897| 100.0| 1,686, 156,550 100.0 66, 180, 347 103.9




EH27EE - FR26FEE mARMBRIREALRR
i iEXEr 2 — AR5
(HE A) (BfE - )
X & T2 7EE ERk2 6 FE t L1
B B REZE(a) |HERELLY REZE () (B EEEE (@) - (b) a/b%
1. ¥ — E R IX A 1,989,100 15.8 3,958,720 14.9 A 1,969, 620 50.3
2. & A & 10, 620, 036| 84.2 22,535,165 85.1 A 11,915,129 47.1
3. # i} A 0 0.0 0 0.0 0 —
4. 12 i & 0 0.0 0 0.0 0 —
% & i 12,609, 136] 100.0 26,493,885 100.0] A 13,884,749 47.6
(H =) (B4 M)
X 7 Erf2 7EE Fri2 6 EE ke LR
B B REZE () |HEALLE% REZED)  |HERLEY HEEEE (a) - (b) a/b%
1. # o] =y 11,126,676] 88.2 23,686,505 89.4] A 12,559, 829 47.0
2. = E 3 = 1,482,460 11.8 2,807,380 10.6 A 1,324,920 52.8
3. & 53 H & 0 0.0 0 0.0 0 —
4 & i 12,609, 136| 100.0 26,493,885 100.0| A 13,884,749 47.6




EH27EE - FR26FEE mARMBRIREALRR
GEZUSEE S ¥ Eby
(HE A) (BfE - )
X & T2 7EE ERk2 6 FE t L1
B B REZE(a) |HERELLY REZE () (B EEEE (@) - (b) a/b%
1. £ RUVAESE 907, 200 0.3 1,134, 000 0.3 A 226, 800 80.0
2. FRAHEHRERUFHH 104,597,805| 36.4 94,063, 056| 25.2 10, 534, 749 111.2
3. Bt 23 1y A 697 0.0 4,302 0.0 A 3,605 16.2
4. 1 A & 73,649,000 25.6 183,700,000 49.3| A 110,051, 000 40. 1
5. #& 4 & 2,908, 492 1.0 2,142,233 0.6 766, 259 135.8
6. § 1 A 630, 000 0.2 0 0.0 630, 000 S e
7. T & 105, 000, 000| 36.5 91, 600,000| 24.6 13, 400, 000 114.6
m AN & i 287,693,194 100.0| 372,643,591 100.0[ A 84,950,397 77.2
(% =) (B - M)
X % ERk2 7 EE ERK2 6 FFE 54 L3
# B REZE(a) |HEREEEY REZE O  |HERY HEiEEE (a)-(b) a/b%
1. # % =y 40, 246,979| 15.0 39,449,793| 10.7 797,186 102.0
2. f& 4 b=y 142,000,586 53.0 129,502,925 35.0 12,497, 661 109.7
3. 2 & =y 85,800,060| 32.0| 200,777,381 54.3] A 114,977,321 42.7
4. % % H & 10, 000 0.0 5,000 0.0 5,000 200.0
5. % fi E=y 0 0.0 0 0.0 0 —
m B A i 268,057, 625 100.0[ 369, 735,099 100.0| A 101,677,474 72.5




EH27EE - FR26FEE mARMBRIREALRR
TKEBXEFRE
(HE A) (BfE - )
X & T2 7EE ERk2 6 FE t L1
B B REZE(a) |HERELLY REZE () (B EEEE (@) - (b) a/b%
1. £ RUVAESE 17,417,790 1.5 19, 496, 050 1.5 A 2,078, 260 89.3
2. FHEHE R U F % H| 233,616,985 19.7| 223,486,579 17.5 10, 130, 406 104.5
3. & A 4| 647,346,000 54.7 604,284,000 47.2 43, 062, 000 107. 1
4. & A & 36, 103, 370 3.1 37,162, 509 2.9 A 1,059,139 97.2
5. & I A 57,947 0.0 3, 830, 000 0.3 A 3,772,053 1.5
6. T & 159, 800,000 13.5| 260, 850,000( 20.4| A 101,050, 000 61.3
7. E X #H £ 88, 990, 000 7.5 130,040, 000 10.2| A 41,050, 000 68. 4
m AN & i 1,183,332,092( 100.0| 1,279, 149,138| 100.0[ A 95,817,046 92.5
(% =) (B - M)
X % ERk2 7 EE ERK2 6 FFE 54 L3
# B REZE(a) |HEREEEY REZE O  |HERY HEiEEE (a)-(b) a/b%
1. # % =y 186, 598,630 16.4 135,167,515 10.9 51,431,115 138. 1
2. = £ #| 301,999,010 26.6| 440,064,326/ 35.4] A 138,065,316 68. 6
3. A & #| 648,408,404 57.0( 667,813,927| 53.7| A 19,405,523 97.1
4. ¥ & & 0 0.0 0 0.0 0 —
m B & i 1,137,006, 044 100.0| 1,243, 045,768 100.0] A 106,039, 724 91.5




ER27 5K - FER26FE

EEEERHKERENZE

A B R AR B LR

(m A) (B - F)
X % T2 7EE T2 6EE ke E3R
f B REEE () |WERKLLY REEE (D) [HERLELY HEIHEE (a)-(b) a/b%
1. 2 #EE2RUVEAEHES 2,004,704 0.8 4,050,432| 1.6 A 2,045,728 49.5
2. FRAHEUFHH 36,642,342 15.0 36,397,918 14.4 244, 424 100. 7
3. Bt E Iz A 507,360 0.2 613,410 0.2 A 106, 050 82.7
4. 1 A £| 198,002,000/ 80.9] 192,904,000{ 76.1 5,098, 000 102.6
5. #2 4 & 7,683,669 3.1 7,997,367 3.2 A 313,698 96. 1
6. 3 Iz A of 0.0 of 0.0 0 —
ol X H & — — 11,500,000, 4.5/ A 11,500, 000 B
A& F 244,840,075 100.0| 253,463,127 100.0 A 8,623,052 96.6
(% H) (BAL - [)
X % TR 27 EE T2 65EE ke E3R
¥ B REZ(a) |HBRCEEY REZE (D) |#ERLEY| BIEEE (a)-(b) a/b%
1. # % = 67,019,608 29.4 82,886,213| 33.7| A 15, 866,605 80.9
2. = ES =1 582,606 0.3 1,906,727 0.8 A 1,324,121 30.6
3. 2 & | 160,678,470 70.4| 160,986,518 65.5 A 308,048 99.8
4. F i % of 0.0 of 0.0 0 —
A = 228,280,684 100.0[ 245,779,458 100.0| A 17,498, 774 92.9




ER27EE - FR2 65K

e & LR o 5 — BRI

BRI E AL B

(HE A) (BfE - )
X & T2 7EE ERk2 6 FE t L1
B B REZE(a) |HERELLY REZE () (B EEEE (@) - (b) a/b%
1. £ RUVAESE 22,716,480 33.2 21,671,520| 36.8 1,044, 960 104.8
2. Bt E )] A 91, 877 0.1 75,152 0.1 16, 725 122.3
3. & A & 35,869, 257| 52.4 28,754,680 48.9 7,114,577 124.7
4. 1 i % 9,845 449| 14.4 8,339,236| 14.2 1,506, 213 118. 1
5. & i} A 0 0.0 0 0.0 0 —
w AN & i 68,523,063 100.0 58, 840, 588 100.0 9,682, 475 116.5
(% =) (B - M)
X % ERk2 7 EE ERk2 6 FFE 54 L3
# B REZE(a) |HEEEEY REZE O  |HERHY% HEEZE (a)-(b) a/b%
1. # % =y 50,584,149| 94.4 45,995,139| 93.9 4,589,010 110.0
2. & 53 H & 3, 000, 000 5.6 3,000, 000 6.1 0 100.0
3. % fi =y 0 0.0 0 0.0 0 —
m B A i 53,584, 149| 100.0 48,995,139| 100.0 4,589,010 109. 4
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